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import sys

sys.path.append("statlib")

from PowerOneSampleTTest import PowerOneSampleTTest

PowerOneSampleTTest(n, delta, sd, sig_level, power, alt="two", verbose=True)
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3.2
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import sys
sys.path.append("statlib")
from power import PowerOneSampleTTest

a = PowerOneSampleTTest (n=None, delta=0.5, sd=1.7, sig_level=0.05
power=0.8, alt="two")

n = 90.73304972907553
delta = 0.5
sd = 1.7
sig. level = 0.05
power = 0.8

alternative = two.sided
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a = PowerOneSampleTTest(delta=None, n=46, sd=1.7, sig_level=0.05,
power=0.8, alt="two")

n = 46
delta = 0.7022210483184123
sd = 1.7

sig. level = 0.05
power = 0.8

alternative = two.sided
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a = PowerOneSampleTTest (sd=None, n=46, delta=0.5, sig_level=0.05,
power=0.8, alt="two")

n = 46
delta = 0.5
sd = 1.2104450614737257
sig. level = 0.05
power = 0.8

alternative = two.sided
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a = PowerOneSampleTTest(sig_level=None, n=46, delta=0.5, sd=1.7,
=0.8, alt="two")

power




n = 46
delta = 0.5
sd = 1.7
sig. level = 0.24883581206933886
power = 0.8

alternative = two.sided
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a = PowerOneSampleTTest (power=None, n=46,
=0.05, alt="two")

delta=0.5,

sd=1.7,

sig_level

n = 46
delta = 0.5
sd = 1.7

sig. level = 0.05
power = 0.5138959197358011

alternative = two.sided




